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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0
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P3-5

BfiE) | EBIETK (D) | EE (EH/R) | XK R

07:55 231 150.0 &| FiHfe07:55 KREFIEF (RFEERES)
08:50 231 150.0 5| THAe08:50 KENFERF (RFI1ERLEE)
09:45 231 150.0 | FiHe09:45 REEF (KEERSR)
10:35 231 150.0 5| THR@10:35 KRENFERF CRA1ERRED)
11:25 231 150.0 5| Tffe11:25 KREIERF CREMEREE)
12:20 231 150.0 | FiHe12:20 REEF (KEERSR)
13:25 231 150.0 5| TiHfe13:25 RHERF (KEAERESE)
14:35 231 150.0 FA| FnHRe14:35 KHEiEF (RKEERES)
2it]1848.0 (8%) 1200.0 3203 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (463), set to 450.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant)
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P3-5

BfiE) | GEBIETK (D) | EHE (EH/R) | XK ERF
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08:05 210 150.0 =] {Ri%@08:05 Fa (KRR
09:05 210 150. 0 E 1BRi&@09:05 Fz1 (RAERERE)
10:00 210 150.0 S {Ri%@10:00 F3h (FAEHSE)
11:05 210 150.0 5| Ri&e11:05 Fz) (REAERS)
12:20 210 150.0 =l RiB012:20 Fzh (REAEEE)
13:35 210 150.0 5| {Ri%e13:35 F3 (FAERSE)
14:40 210 150.0 5| Rike14:40 Fz) GREAERS)
15:50 210 150.0 E BRi&e15:50 Fzh CGRAEREE)
21t]1890.0 (90%) 1350.0 3 WHKEC: 2080.0, PH: 6.5

large discrepency for begining water status (422:51.0), set to 348.0 ml.
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P3-5_0, Day=27 (2025-04-25)
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11:25 240 130.0 E BRige11:25 Fz CGRAERESE)
12:15 240 130.0 E| {Rige12:15 Fzh (GREERSE)
13:25 240 130.0 F BRige13:25 Fz1 (GRAERESE)
14:20 240 130.0 S {Rig014:20 F3 (RAERSE)
15:20 240 130.0 E BRi%e15:20 Fz1 CGRAERESE)
Eit] 2400.0 (100%) 1300. 0 3Z03KEC: 2080.0, PH: 6.5

LOREBIRTC (240) 5747 (200. 0) A FF, WlaEH T X BRIERSEXIER
ZRIAKPREBE156. 0 ml.

large discrepency for begining water status (516:237.0), set to 390.0 ml.
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P3-5_0, Day=26 (2025-04-24)
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P3-5

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R

08:10 210 130.0 F[ BRi%e08:10 Fz1 (RAERESE)
09:00 210 130.0 = {RRiB009:00 Fzh (RAKEE)
10:10 210 130.0 E BRige10:10 Fz1 CGRAERESE)
11:05 210 130.0 S {Ri%e11:05 Fzh (RAERSE)
11:55 210 130.0 5| Ri&e11:55 Fz) GREAERS)
12:50 210 130.0 =l RRiB012:50 Fzh (REAEEE)
13:50 210 130.0 5| {Ri%e13:50 F3h (FAEHSE)
14:45 210 130.0 5| Rike14:45 Fz) (GREAERS)
16:00 210 130.0 E BRige16:00 Fzh (GRAERERE)
21t 1890.0 (97%) 1170.0 EWHKEC: 1904.0, PH: 6.5

large discrepency for begining water status (87:231.0), set to 116.0 ml.
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ET (ml/hr/plant) ET (ml/hr/plant)
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P3-5_0, Day=25 (2025-04-23)
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BriE) | GEBAK(F) | ERE (EH/R) (KSR R

06:15 200 120.0 E BRi&e06:15 Fz1 (RAERERE)
07:10 200 120.0 F[ BRi%e07:10 Fa1 CGRAERESE)
08:05 200 120.0 = {Ri%@08:05 F iz (KRAERSE)
09:25 200 120.0 E BRi&e09:25 Fz (RAEREE)
10:30 200 120.0 5 {Ri%@10:30 F3h (FAMERSE)
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15:55 200 120.0 5| {Ri%e15:55 F3 (RAERSE)
23t 2200.0 (117%) 1320.0 3 IFKEC: 1900.0, PH: 6.5

large discrepency for begining water status (283:156.0), set to 258.0 ml.
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